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NumbersUp 10999 BB

. s M a t hs
Forming 3-digit Numbers
ample 18: Without repeating any of the dj
ydiglt numbers using the digits 5, ¢ and .
greatest Number .
yrange the digits in descending order
start with hundreds place. 6 >5> 7
- greatest number possible is 652

gits, build the smallest and greatest

Smallest Number .

Arrange the digits in ascending order.
Start with hundreds place. 2 <5 < 6
Smallest number possible is 256.

| Draw the beads for the given numbers;
HTO

o

Sv e} QOO
OO — = AR — =~
oo O m—-—-o
wn
\]
Ul
Il
Czigal
oo

-
o

(@) 136 = (b) 585 = (c) 900 =

HT

A~ =

O ©00300—

o
o o
-]
o

(d) 604 = l

il

2. Count the beads and write the number.

(e) 399 =

HToO HTO HIZ
(&) _506 b) 562 (0828

> Write the expanded form. |
@) 358 = Three hundreds and fiv

- (b) 156

e tens and eight ones
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{1 A
T
5. Write the numbers in the boxes. | . (
(a) Nine hundred and ninety-nine _—Cwﬂ——‘ (b) Nine hundred S
(c) One hundred and seventy-three _Ej (d) Eight hundred ‘é;; | |
6. Fill in the missing numbers. -
| 634 635 636. 3§ 5637 638 639 640 12.
6dl gup. | 643 | Foas (45 74 A
2;12 A4q b50 651 652 453 654 |,
656 | 457 658 459 bbo 461
7. Fill in the boxes with numbers before, after or between.
Before Between  After
s . — _ Before Between  After
214 281 _ 0y | 195 T jqu | 195
© | 119 | 130 | 181 (d)l 439 | 1700 -y
e ; 7ol
(e) LZHB&JQO ® | 899 55 501 |
8. Put<,>or=sj L3 L 5
Signs to COmpare th
© the following nympers
(b) 24 [
( <] 204 @ 111 = 1
e) 2 o]
) 04 <| 214 (f) 324 169 4
8 o
: 88 Li 999 (i) 213 |< | 231
€rin the following sets
(b) 413" 314 !
413, 314, 431
3{9)..232, 397 332, 233
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| Numbers Up fo 999
10. gncircle the greatest number in the following sets

@) 359.673) 476,299 (b) @5) 573,375, 537

(¢ 20, 202,(22) 22 (d) 545,(54) 445, 454, 455
1. Arrange the following numbers in ascending order.

(a) 165, 432, 245, 320 (b) 825, 655. 890, 950

=
165 | 245 | 320 | 432
= ‘I L!;SS 825] 890 | 950
0\ (c) 580, 575,543, 640 (d) 200, 350, 105, 348
45
e 43156751 580 | 64o 1651 900! 48 | 350
dog_ (e) 264, 295, 215, 279 ~(f) 763, 768, 760, 764
21512641 27491 245 6o | T63| 164 | 148
\ .
—640\ 12. Arrange the following numbers in descending order,
64T (a) 242, 282, 232, 211 ' (b) 105, 108, 217, 215
6HH |
(6] (282 | 242 | 232 | 21 2171 215 | log | lo§
(c) 450, 970, 840, 320 (d) 540, 980, 760, 580
et Q70 | 840 | H50| 3le 9%0 | 760l 5KRo! 540
ar | () 847, 826, 890, 984 (f) 461, 469, 460, 464
)
ol 84 | 890 | 317l 826 Heq | Hé4 | 46l | Héo
e

w 3. Write the greatest and smallest 2-digit numbers formed by the following
digits, given that the repetition of digits is allowed.

@ 1,9 gq I\ (b) 0,7 _ 1 1o

14 R ' : ,
 Build the numbers using the given digits in each of the following, without
7. ~ Peating any of the digits.

j ? : ) The greatest 2-digit number using the digits 5 and 7 15

: | t; The smallest 2-digit number using the digits 0 and 8 if®) i

L The greatest 3-digit number using the digits 5, 9, 0 950 |
™he Smallest 3-digit number using the digits 3,0,2 203
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New Gwded Mcnhemohcs Class 2 -

Do the following in your notebook.
1. Write the place valueoand face value of the colour_f.d digit.

(@) 7 7 (b) 23 (c) 24 (d) 642 (e) 800

(g) |347 (h) 235 (i) 407 (1) 5‘)4 (k) 651
2. Write the expanded form.

(a) 38 (b) 501 (c) 66 (d) 76 (e) 90

(g) 253 (h) 450 (i) 192 (j) 361 (k) 455

- 3. Write in figures.
(a) One hundred and forty-two 42

. i g il i

(f) 724
() 635

(f) 158
(1) 186

(b) Three hundred and seventy-four 374

(c) Four hundred and sixty-eight _H68 (d) Six hundred and sixty béo__

(e) One hundred and eleven [\ (f) Nine hundred and nine 09
4. Write in words.

(a) 521 (b) 432 (c) 26 (d) 790 (e) 628 (f) 326

(g) 834 (h) 926 (i) 135 (j) 585 (k) 600 (1) 911

5. Arra e the following pumbers i scend g order.
i (a)§ % g

(b)

] (c 525 @325 @412 671 @381

i Arrange the following numbers in descending order.
T (@) 704D 4070) 4B 4B 82710
b) 296 9y 9210 1298 292)
©BIE 51 6 STE 358

“# % 7. Fill in the boxes with numbers before, after or between.

@[ g o[ 1] ®[1a]o]2\] © o ye
@336 [[31] O [ag] 19)100 @ [pol21] 1ol

con R 3 B -
Todive Sl wilia o
¢ h -
1) .

.

"
e c:;\- w:-,. ,.'v,, ~
“ *

.

. w » " .
2 Y 3 at 2 %
pr mon SR oS Sl el
L - » )

4

]

without repeating any digit.

]
']
» - o z
s aeihey _wipe @i
~ w

- “ .;m n":u. »
by .3‘_ b )

%

Va2

i-‘
..

r

u ,J st l e -;'~, =
4 1 \
(Yo 4 - - u ‘\.“ ¥ I

8. Write the greatest and smallest numbers possible by using the following digits

(@) 6,2 (b) 0,5 (0) 9,8 (f) 6.%
, (d) 1,4,8 (e) 2,0,9 %6
4 ”MMW—‘GL)?Z 050 gods  qug OF- 920, Lo
e - %q &m e Sm-- 209 it
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Ed SR L ol i L L A e  ate ol o R R SR o pefs Uy 1 L= T WS
Bt + 4+ i
i .
* ] < 1
¢ b o
{. i 1d 0dd Numbers s
i
! = o
! j
o one She” A pair of ducks Three crabs =5 B
¢ A . + 4
; a pair of shells Three ducks Two pairs of crabs i
)1 an 0dd number. 2is an even number. 3 is an odd number. 4 is an even number. e !
b if a number can be divided into pairs, it is an even number. 4 1

Make the correct number of dots on either side of the railway track. Are the dots
ip pairs? IS it an even number or an odd number? S ale
' tal 8 : g . "‘ = =] =l n " :
: JL_1I |r n | | | 1 HgH
' ‘8 % =] =} O O =) = g -

. bk
. Dotsinpairs? | v |Yes/No ) So 8 isan even/odd [1 number.
Lo T ' & o goun e ey Gt TG
f i N | | O | O [ 1
. Dotsin pairs? Yes/No| v | SoT7isan even/odd number.
ilc) 1l - H S - Ao _o——o-—n,
' - I I n IV | R |
i e - T
1 Dots in pairs? Yes/No |~ | So 11 isan Deven/odd number. .
| ™ -
L (d] l4 :’ "-‘ :1 ] 4 :1 n n n_ : ‘ .i
B T | n |
b o o O -y > e = = -t
l s : ven/odd Dnumbe ;
; Dots in pairs? \Yes/No\ So l4isan Be r
b | o i & 2= &£ 2 = 8
9 ‘ A o = == ot of
h et | | | | I b
%‘ __? [:L:] L 0 h%: ’:E
%

%

:r':‘ x\z.'s
[
Xt
¥




t of '

ards,

{2

() trlo| ® [T|lo| (© |[Tlo| @ |[T|o] (@ |T|®
7 11 712 116
+ |2 + +(213 + 6 +13|3
9 lo 34 118 119
2. Fill in the boxes.
(a) Ritahas| 4 |red chillies (b) Amit has a set of | 10 | pencils.
and| 5 |green chillies. He gets| 3 | more pencils.
She has q chillies in all. Now, he has| | pencils altogether.

&

3. Fillin the boxes

@) 5+6+7=

'3 (b) 9+42+1 =|g

(d) 4+6+1=

(e) 51+10+3 =14

I\

Scanned with CamScanner

(C) 12+3+2=

() 63+2+6=




New Guided Mathematics Class 2

COUNTING FORWARD

In Class I, you have learnt that you can add numbers by ¢qy,

nti
want to add 5 to 2, start from 2 and take 5 jumps forward ng forward_’};
et . : """“\4“ s 8 \ *‘ *‘ - .\\ » W
: 6 1 2 3 111 ! f } il

This can be written as:

Fill in the boxes.
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Addition X1

, jD'TION PROPERTIES

1"
I LA _ o

o9 ot 6:5' - b6+ 99
71+ 3] = |

4 5 . B

3:7and3+4=7

50,4 %
Fi“ in the boxes
| 006 _060660 _066
s QO _ 006 Wh
60~ DS B®OOGOG 00 + 00 oree:dm.n tt;‘r;tr)?usm
= m ~ = rema:?s hlehe?jmnef
2T gl = (o) * [ |evessdamd

50,2+6:8and6+2.-=.8

Addition with 0
what do you get when you add 0 to a number?

Vv \/ When 0is added to a ‘
0000 + - | @@OD| number, the sum is the
4 number itself.
4 + E)]

- [

S0,4+0=4

Addition with 1
dltoa number?
o When 1is addedtoa

What do you get when ¥
3 “‘:;’ pi it
V2% Sl

c@m- o

SO'S+]26

\!

amoscanner



;
4
/

Eerice 2y

1. Fill in the boxes.

@ 1 + 2 = 2+

€ 4 + 2 = 2+

e} 5 +D]= | +

32 ] New Guided Mathematics Class 2

@) G%r 8§ = 5+
2. Fill in the boxes.
@ 7 + 0 = |7
d 9 + nl= 9
3. Fill in the boxes.
(@ 5 + 1 =
() 3 +I} = 4
56

(e) '5_5_)+ I =

4. Filli in the boxes such that the sum IS the same.

@ | +]8’=8’

=[3] (b)D]*“3 = 3 U
=[g] @ 6 v 2 =]+ 6N
P fH 8 +[D= 1 +3=§
_;é] (hy 7 + 3 =;_]+7=\
=1z * [
b) 3 +0._.Bj () 2 +@:2
(e)+0=41 () 28]+ 0 = 5
(b) T +.1 = | g
(d) 4 +§__]= 5
(f)‘,,)L+l = 33
o[}« [a] =51
;3 + 3 =< HE
[+ [ - s
'+m=6
Lol [o] = 6
(d)’.@+@=9.
;'+m'=9
L+ )=
Esme
‘?+=9
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Addition

ADDITION OF 2-DIGIT NUMBERS

Let us learn how to add 2-digit numbers.
Using an Abacus

gxample 1: Let us add 31 and 27 using an abacus.

T O T O T O < A\ ’
8

‘Draw the beads

3 1 2 7 5 and add.

o
Step 1: Puttheones  Step 2: Put the tens |
beads together. beads together. i B
1+ 7 =8 3 +2=5 Q4 %_ 3
We get the number 58. B0 s
Thus, 31 + 27 = 58 4 5 5

Addition without Carrying
Example 2: Let us add 72 and 2.

First add the ones and then the tens.

T|O T|O
1 828 712 T|O
+ |27 o+ |2 15(5 2|3
4 7| 4 + 31 #1711
51 8| 914

Thus, 72 + 2 = 74

Example 3: Let us add 32 and 27.
Step 1: Arrange the numbers in tens and ones.

Step 2: Add the ones. Step 3: Add the tens. B Mental Maths |

.TO T_P__ 3+0=_3__+
3 12 F: N 19+0 =_10__
+| 2 |é7a +__2_—7 23 +1 =_.24 :
~ |l k5 9 | ql 4+ 2= M i

Thus, 32 + 27 = 59
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ﬁ New Guided _M_athematics,Closs 2

Regrouping ont ways by regrouping it into teng

A i in differ A
We can write a 2-digit number 3
@aED e £
@I o 9 5
aaaa = B9 if
16 can be written as e dedad=
6 (6 =2
16 (16 ones) 10 (1 ten) (6 ones) b
or | ten + 6 ones = 16
TrvThis! !
Addition with Carrying [A20L t}:Lb A
Example 4: Add 6 and 4. Draw dde eads
TO TO Lk Since we cannot have and add.

more than 9 beads in
. the ones rod,
¥ - | we change 10 ones to
‘1ten and O ones.

6 4 [ 0
Thus, 6 + 4 =10

) Example 5: Add 58 and 34,

o S—

Step 1: Arrange the numbers in tens and ones.
Step 2: Now, add the ones.

T|O

8 ones + 4 ones = 12 ones Q

Since 12 is more than 9, 5\ 8 |

we change it to tens and ones. +| 2 \4 Rt i

12 ones = | ten + 2 ones. 2 1hY Thist Q

Write 2 in the ones place and - Add. Carry over

carry over | ten to the tens column, v e if needed.

Step 3: Then, add the tens. El T|O B

Zttens +3tens = 8 tens B E
Wr(iatr;s;i',: tt}fz tCealr:riecll over=9tens % % 4 i 7 % "

Y thussging o) (912 T
4=9) —=l 2 | 61 8] 3
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,\DDITION OF MORE THAN TWO 2-DIGIT NUMBERS

Jithout Carrying
Eu""ph’ 6: 16+32+ 2] =7
step 1 Arrange the numbers — Step 2. A the ones,
i tens anG ONESSat
3 9 T|o
116 1|6
,1‘2_ 3 |22l
+| 2|1 4l I
- |9

Thus, 16 + 32 + 21 = 69

with Carrying
Evample 7: 45+ 17+ 30 =?
Step 1: Arrange the numbers in tens and ones,

Step 2: Add the ones. Step 3: Add the tens.
T|O T|oO
© 0}
4\ 5 4\ 5
1 V7 1 )7
+[3[\0 +1 3 [\0
2 9|2
Thus, 45 + 17 + 30 = 92
l. Add.
@ |Tlo| (b) |[T|O]| () [T]O
+12(2 +131.1 1111
1314 5 55 157
(f) Tio| (g T|0| (h) T|0]
33 6|4 rdba
+1515 +12]2 g AT
315 3 s

(d)

(i)

Step 3: Add the tens,

TryThist

O\ N —

g~

0
O
2
l o
0 {

-

Add. Carry over if

needed.

T [j__[_o |

1 [0 ]

42 el ) |5 |

+ 25| 424!

| 91 e & [ ]
T]o] (e [¥]0]
64 701
+131 +126]
1l 5 917
— o v
10 () LT_;..Q,(
211 1.6
+/116 +15]|3]
63 ) [¢1q!
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m New Guided Mathematics Class 2

2 Add. Carry over if needed o] @ [T]e] @ pant P
@ T ‘o (b el © | () % | o Y F“s*
o @ 318 6|7 LN
e - 1 e
peLt 8 sl 310 +[2]0 + [
+13]4] + 119 e q| 2 \f&bten'
N 312 113 i Linge
Sentn 1o o] () [TLof (i) gif
6 [Flo] @ [Elo] (= 0} E]o ) be?
oll | 0| 02) il 5|6 g el
So b b Bl
4 | J | e
| ‘21 P 910 Hlol 314 by g
e ? step
3. Add. Carry over if needed. — ‘
=3 Tlo] (d [T|O]| () [T[o SteP
@ [T]o (b 11'_;0, @ e e _LI‘L
f*z“?‘(‘l)“ 12 2|2 13 22,
(210 112 +[1]2 +]3]5
+ | 2| 2 + | | ] + g = ._,__,
813l 3l 8 | 618 - Leg
® [Tlo] @ [T]o] (h) [T}O (i) [Tf{o] () Tio' e
121 310 312 1|5 1413 l
‘2i‘5] 218 210 6|1 2{&0‘ 8 te
+110] +[1]0 +[1]4 +[1]2 +[212]  Reg
5.6 6 614 8 818l wri
o| (o) [El9 ten
(k) T 0| (I) T |0 | (m) T|(O| (n) T .
10} ® 0, ) D 1 Th
[‘?'8 3 )2 1 1% 316 ‘
20 | |8 AE 20 Ad
+/3]8 +12]9 +14]0 +[1]8 Ex
9.4 745 815 7 St
/
Regrouping Tens | St
140 can be written as i "' ’ L Jg«gggggudf
14 tens lens
or | hundred + 4 tens = 140 (1 hundred) i
Sometimes when we add tyo 2-digits number-. we get a % digit riorabist

i'r-""\
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Addition
guample 8: Add 60 and 40 TO TO HTO
it put the ones beads together,
0 =0 3
0 + -+ =
en, put the tens beads together,
01C,15+4tens=10tens oy 0 700
< nce we cannot have more than
2 eads in the tens rod,
. change 10 tens to | hundred.
rhus, 60 + 40 = 100 Draw the beads and add.
eample 9: Add 85 and 42. TO TO HTSO
Step 1: Arrange the number in tens and ones. 0
Step 2: Add the ones. 5 +2 =7 | 8 L=
9
T|O - X e
8|5 5.0 8 0 1. 350 |
+| 42
7 -
Step 3: Add the tens. HIT!oO HIT! O
8 tens + 4 tens =12 tens. ‘ ol8]s5] — 8|5 |
Regroup 12 tens into 1 hundred and 2tens. | Y 4 | 2 + 42|
Write 1 in the hundreds place and 2 in the Kt 7 Llalz]
tens place.
1
Thus, 85 + 42 = 127 |
Addition with carrying twice
Example 10: Add 69 and 55 L
Step I: Arrange the numbers in tens and ones.
Step 2: Add the ones. Step 3: Add the tens. Step 4: Add the hundreds. ]
‘n|{T|O H{T|o |
T|O
@, | D DO :
e 6|9 69 |
619 - — i
+ \5; 5 + 313 [
gE 2[4 1] 2[4
|4 Bl & ~ |
Thus, 69 + 55 = 124 f
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B New Guided Mothematics Class 2

W T
4 0 92 8 ; | 6 E
3 6 | 4 L___‘“z‘_._j_; + -h*—4-*~—~ ) 7 6
T HifNEl | 121 4] \1\3?’
| K T 0 () mitlo L (R) 'F,WP - (h) T'?d
o1 2051 [T 5
¢! (&9 +{ 1812 +1 151} +L 5T,
I - T s A
BURAY Lo ] B &, LItats
(i) mitTio i) [wiTTe ky [H][T[o] () DN
M Y 0} L O
(915 L%67 1314 148
+ 9 6 + | 513 + 709 +! [8i5
%*Q_
21941 112 1o ! 3 Lidzls
m  WIEIO) () [WIETS] © |HiTlo] (p) [w]Fo
- @. — F;@ )Hw .\4_®‘1L_.___‘ L*—LQ—*“
(211 1813 |56 L 14 T
+_i5/9 +{ {28 | 1716 +| 16!8
1.5 p NirEn RURYEN 115!
Addition of 3-digit numbers without Carrying

Example 11; Add 245 and 132
Step 1: Alrange the 1w

O numbers in hundreds. tens and ones
Step 2: Add the ones

Step 3: Add the tens. Step 4: Add the hundred
Sl Mo w[E]o]
2.4 'S 2.4 5 3 4|5
BT e 5 | 2045
J"*‘j"‘%"i ¥ ;Jﬂl.,J‘,a +(310 3| 2|
S ri1] gl 7.7]
*+132 =377 A
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' Addition e

. . y e ‘
¢ pEle] © {MING) « [WETe| « [WE{e
2l 7‘].‘1| ’30713} 14"3") 1516 1]
J2lel3) o +p2lalal 4 pialaf #1203
Eiki 5luls 415141 6186
wirlol (f HiT|o] (9 [M[T]o]| (n [m[T][O]
o 11512 8160 HEERR (213
415126 +11]1214 +16/2]5]| +13/24
(5126
gakaky 9]¢y 71314 I5i3i7]
mitlo] () [H[T]o] k) [m][T[o] ) [m|T[O
gn 5] 1[4 4102 13164
,l’u_ +]13]5]3 +12|8|6 +f4134
1qlal 9 S B 61318 L7747
o [®[tlol (m) [H]T[o] (o) [W[T[o] (p) [H[T[O]
700]9] 2[5]3 242 13[1[2
$+/2(7]10] +[5[12]3 +1]2]3 +[5,6 5
91719 11716 £15 18177

WORD PROBLEMS

| Abasket had 28 The basket had 28 mangoes |
mangoes in it. m Mangoes keptin  (+) 14 f

l4m : ;
e “EHangoes At i Now, there are 42 mangoes in all
€Ptin the basket, How many : ——————————

"aNgoes are there in the
Yasket now?

Thus, there are 42
mangoes in the basket now.

—

L Aii - y
"scored 33 runs in the Hrst Ajit scored 33 runs in the first match

). Cgcket match and He scored (+) 29 runs in the second match |
| o;l’ms In the second. He scored 62 runs in all -
| Many runs did Thus, he scored 62 runs in all. -

€score in alI?
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{ New Guided Mathematics Class 2

F;‘;t‘. '»;; ;l; ‘T‘_( ’> ;-\*ji

: I. There were 28 students in

i one school bus and 35

- students in another school
| bus. How many students were
there in the two buses altogether?

2. There were 26 marbles in a bag. A boy puts
38 more marbles in the bag.

How many marbles are there
DQ). in the bag now?

I 3. Rina’s father bought 23 apples,
i I8 mangoes and 2] bananas.
" | How many fruits did he

| buy altogether?

|

/

‘, 4. Ing school, Clags 2 has three sections.

/ If there are 34 stu

|

dents jn Section A,
34 students in section
B Band 23 studentg
5&7;’ in section C.what is
53] the totg] Number of
students i Class 27
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| \eera coloured 87 Pages of t
Eook- Navya coloured [0 mq
How many pages did they c

3

I ,sold S0 orange candijec
14 - . l
-\‘-1 5 mango candies

ind - ’(‘jé

| many candies did
B
pesell intotal?

he colouring
T€ pages.
olour ip al?

Rashmi read 96 pages of
astory book. She had to
read 40 more pages to
finish the book. How many
pages did the book have?

Megha and Shivansh were
selling tickets for the

school fair Megha sold 69

tickets and Shivansh sold 28 tﬁckets.©
How many tickets did they sell in all?

Addition 3R ’

| \W rondin P4

Avegetable vendor
Sold 34 potatoes and
tomatoeg and
Oniong. How

Many Vegetables did
€sell ip all?

No o Cniont =+9 5
‘tLotaP,NﬂgzILMﬂ= 12|
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addition B8

g in YOUT notebook.

jinthe —— —
'F],|2+_OJ =12 (b) 5 +1 = E(;J (€ 68 *Uj = 69

§go * (8’07' =& 8 98 +1 = 99 (f) 9% + | = 89
. addthe following.
Fona @ JIAES (G THEDE [ EiE 34 + 65

s+ 34 () 48441 (h) 63 +24 (i) 25+16 (j) 56 + 19

f) 5
:k], g+ 3 (D46+12 (m) 57 +27 (n) 48+ 12 (o) 68 + 15
; addthe following.
’ @59 + 22 (b) 60 + 50 (c) 78 + 64 (d) 79 + 22
) 80 + 47 (f):34. +:.49 (g 25 +79 (h) 82 + 99
i) 105+ 201 (j) 509 + 120 (k) 561 + 232 (l) 678 + 111

53 boys and 45 girls study in Class 2. How many students study in Class 2 altogether? .

Harshit has three marble boxes. The first box has 82 marbles, the second has 438
marbles and the third has 57 marbles. How many marbles does Harshit have in all?

6 There were 28 fish in a big water tank. 43 more fish were put
inthe tank. How many fish are there in all now?

in all?

8 Ayushi scored 154 runs in the first cricket
match and 132 runs in the second. How
many runs did she score in all?

|
9
Complete the following table.

M Mental calculation Add 10 | Estimate | Actual sum
2+ 54 2 tens + 5 tens = 70 B (eboutBl LB
+otens=a

X ;:.."
%24 : ,;,ﬁgd,‘lo,,_._.dmul 90 | Qo 5 3
35 { s 2 Tonk L

N PENES . obeut ol 13

R 1 . - . '

M . [ ] '._,*,,.'-.a---.‘.-—.<—:..t
po & s . . 0 : u ' ) ™ T

- -

by :
ﬁ‘e‘ ; Mk o + 4 4 3 4 o o T ’ . 12 88 - YH
™ ':~ -,- R ; ; J : . .,“ '.- —|‘ ':‘ -';_ _-’, i -.’o -!- b, - ."\' - .‘- + + + ."f‘ .'r. ..i.‘lll
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ed Mothemoﬁcs Class &

3 New Guid
m: er tiES q
: thﬂ prOP ing adde ‘
bascd on Addi bers be -
... Patterns o Shapts in the order of the num c J - = ——
\\O‘lfl PR e [T 7 f/‘\__’, > 7
Draw/Ct e YAU’ K BL A 5P | +6=7
k| ORI
j v — ST !

A obr I ¥
by K T8 \\’\\)'V\ v

.7 ) . s
6+ 1= - /\/\/\A 3+ 1=y

- \/\/\/\ ,///ﬂ
— Toopoooocd 2+8= 1)

SF o asasssEns 8=l
3+ 2= O —— 4
) +4=8 !’“@QOOQW 4+2
| /;//’;;’44?474!’#‘1?371’21&*&? 6+4=10

- X HEFRF L et e _ 14
ot O
(9067(9(0(969(9(967 000000 008 —

B 99008 09009 '
/ ¢

Mental Maths
See the pattern and complete the addition of 10 to the following numbers.
1 +10=2] 16+10=_26 52 + 10 =62 54+10=_6_LL_ ;
J3 +40=33 2+10=_732. 67+ 10=77 61+10=_71 _ 1
6 +10=46 39+10=_H9 75+ 10=285 77+10=_87_ :
0+#10=50  43+10=_33  89+10=99 35410= 95 ¢
When you know the sum of the ones ;
i

Gi =
iven 2+3 =5 12+3 =15 and 22+3 =125 8032+3-..l5/

o Bt

Gi e 4+3 = '
r% 345 o A3l A So44+3=_H1- |
Given i‘}s-& P+3=18 and B45=28  go3345-_38
) =6 - ¢
von GRS 0. +5=36 and 514556  gogis5= 86 4

.Cu\.’en ‘
247 =g
»e H 22417 = 20
=< and_42.4.7. - 49
4749 sospe7= bl |
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e iesOne subject Mathsit
W Practice Test Paper 1 W o L Lo

1. Fill in the blanks.

. () The place value of 2 in 209 is _Z_M

"
P
L

d
13

5 (b) The expanded form of 193 is MJ%MMMLLLO’—-“A‘ mmjtﬁuw ﬁ;"’:"‘
% (¢) The smallest 3-digit numberis |00 : 4
|
i+ -+ 2. Write in ascending order.

N 2

T 875,578,857, 58 \—53—_51&_851_8_73

>4 < 3 Write in descending order.

.‘t{‘ &

- 215512500251 59y [ 519 ]951] 25

£% *, 4. Solve. ,
+4 @ [tlo]l & [rTo] (¢ [E]o] ) [FTo (e) [0
¥ A L1 R FR Y al
el 12]5 53| 1916 | 5|2 | 13
204 +“6 6 +1]4] ~-{7l1 —: | 9 | i) x| I8
1911 57158 et L

Y

4Ngoes in an orc

mangoes were Jeft | hard. 24

n the Orchard? ; mangoes were plucked. How many

- o

" Scanned with CamScéanner

9. There are 3 nests.

Each nest ha i
How many chicks ® 4 chicks

are there in ||




tsRecap

| Hen“fy the following shapes and fill in the blanks.
Sennmm— |

(a‘ | | / \
B

' (a) Count and colour the shapes.
Shapes How many?

- ;' Yellow
— Circles | | —!
A Squares E_T,.’:' Blue
Rectangles [:L—:j e

k

l y

Ovals [ - B
x| Red

- o i
Triangles DJ,J‘

a b LS.
‘b) 'de“t'fv and tick (v) the shapes of the followm MEERTY St s

' 3 o .
| g Cube/Sphere/Cé( B

C)lmder Cubgii/%pllere |

e d—

rrim \/' ; Sphe re/ Cube/Cone
| E:Li. Cuboid/ Cylinder/CUbe é :
- | = >
" — | . Cylinder/Cone/ Sphere
‘; '? cohés/ Sphere/CUbOId i i P2
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3 New Guided Mathematics Class 2

FLAT SHAPES | '
We already know about squares, rectangles triangles, Cbl(f)leSt.}"O\II:IS, These are
called flat .shapvs‘ or plane shapes Let us T S
Square g
. o Criam A square has l 4 lsides and m COrher
I - Side All sides are of equal length.
Rectangle
Ty Mt A rectangle has m sides and | LUt comers
> Side The opposite sides are of equal length.
Triangle

e<— Corner

N Atriangle has | - | sides and E corners
/ \i —> Side |
/ ‘/l r/
The three sides of a triangle can \/

be of same length or of different

lengths.
Circle Oval
L
\\\.\/ /
Acircle has !'J curved side An oval has m curved side
ooy
and LOJ corners.

and B J corners.
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31 New Guided Mathematics Class 2 ‘

Sphere
here is a solid shape with | | |
A lid shape With | 1 |curved fyq,
Curved — > ‘\ LO ‘edges and o_Jvertices.
face / A B Do you broy ths ..
we live in .‘;a:?;s;;
- ./, S — &
b4
Cylinder
Curved face _,__:i\*_:‘~7 T A Cylinder is a solid Shape with ‘ s
Fltface —> ) curved face, | 2 |flat f ”
\ / 1 d aCeS and i
s . 5l
vertices.
s
fa pencil g th [y
If a pencil is run along the | o i 1
_ flat face of a cylinder, we | £ TR |
get a circle. ' ‘ g l )
2 e NI & | L o
i
> ST = N il
= -‘,,.—"’/’_ 4 '/-//(’
(O=
Circle
Vertex . i Tl
A cone is a solid shape with LL
Curved face curved face and | 1 |flat face.

It has| | |vertex.

> Flat face

What will you get if you run a pencil along the edge of the
following objects?

(@)Acoin  (b)Abook (c)Adice  (d)Abangle
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!
Geometry H] i
5‘
fyand tick the shapes of the following Objects ‘
Cl\‘.{fi/Cone/Rectang;le
e S e

—

! Circle/Triangle/ Rect\aﬁgle

( > Ci\rée/Square/Cube
C\lﬁe/Cuboid/Sphere
et s —

“‘m Squa'e/CYl}rﬁe,rfTriangle |

i

—

Rectangle/Sphere/Sctﬂge; |

Square/ConaCylin\{er' ‘

,{

1

Triangle/Cylinder/Square Cone/Spre/re'/Triangle ;

' \/ ]
Triangle/Sphere/Cub\'oi/ Cone/Circle/Sphere

= |

0 ]

| | 1
; Circle/Sphere/Cdtie |
|
! .

Colour the following and identify the solid shape of the following objects.

amoscanner
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BN New Guided Mathematics Class 2

3. Match the following

(a) Rectangle (e)

(b) boid (f)

(€) y phere (g)
cm_vnqn: 3

(d) v,:-_;:_.jg-\i Cube (h)

4. Name and draw the shape you will get if you run a pencil along the edges of the
base of the following obijects.

(a)
corners
4 sides

square

(b)
3 corners
A sides

(C)
(O cormers
[ sides

(d)

H  corners
_H__sides
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B3 New Guided Mathematics Class @

Revision Exercise

I Count and colour the shapes

@ ( Y Circles 2., (b) Clrcles D _\
- Cones 2 Cones ol
[_] Cylinder | Q O Rectangles Z
Rectangles _?,_.__ Squares i

Squares _Z)_

Triangles _ ) -

2. Fill in the blanks.

(@) Arectangle has Y sides. (b) A cuboid has 8 vertices
(c) Atriangle has . corners, (d) A cube has edges
(e) Acircle has Q vertices, (f) A sphere has J_Wd face.

3. If a pencil is run along the
(a) edge of a cube, we get a A&U.{{M,L.
(b) edge of a cuboid, we get a
(c) flat surface of 3 cylinder, we get a .9 ,

‘= (d) flat surface of a cone, we geta lﬁm&l{’__

~ <. 4. Ring the solid figures that wil| not roll down if placed on g slight slope.
~ (@) Cylinder (b () Cone (d) @ (e) Sphere

Fa
«
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Dats :
Page: D

CER AU I E]
) qQ .q 4 D Q.
RT3 - =R L B (HIZ =3 Pl
o (Paggaxt = = fasg_oxar Patgwn e dr—
3 [RITEImII= TRl [l QU E(TT 9T ARSI
y[TEE - TRl quTE e o blwcs' TE]
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gfl T o W7
SR
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5| T A1
EA LG
: N ?TT - m
Py | =PI e
Y A
L TE I
5 &Dﬁ)'ﬂ— %7331
¢ || 3derd - WWT?
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Data :

; Paga (7]
- ectotion  Woedd  (Nth  Meamine
4o 258 J
Q Ve
Ll I = ST
o B3 — (7133
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e
S[IE = fed o=
- - EEL
3 farer— vz farem
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o1 FEET - GlaFT AT
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R M IECIERAGE
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ey e
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| 2 (BT VP IIST=(99dT JAT qI"
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